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September 13, 2007

1. (7 points) Complete and balance the following double displacement reaction.  Write a total ionic and a net ionic equation for the reaction.



H3PO4(aq)  +  
Ca(NO3)2(aq)  (  

2. (5 points) How many moles of hydrogen sulfide are contained in 35.0 mL of a 15.6% aqueous solution of H2S with a density of 1.11 g/ml?
3. (8 points) The reaction of 125 grams of NH3 and 165 grams of O2 produces NO as shown in the equation below.

4 NH3  +  5 O2  (  4 NO  +  6 H2O

a. How many grams of NO will be produced by the reaction?

b. How many moles of water will be produced by the reaction?

c. What is the limiting reagent and how many molecules of the excess reagent are left unreacted?

d. If 85.6 grams of NO are produced, what is the percent yield of NO?
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1. (7 points) Complete and balance the following double displacement reaction.  Write a total ionic and a net ionic equation for the reaction.



H3PO4(aq)  +  
Mg(NO3)2(aq)  (  

2. (5 points) How many moles of hydrogen sulfide are contained in 25.0 mL of a 15.6% aqueous solution of H2S with a density of 1.11 g/ml?

3. (8 points) The reaction of 115 grams of NH3 and 165 grams of O2 produces NO as shown in the equation below.

4 NH3  +  5 O2  (  4 NO  +  6 H2O

a. How many grams of NO will be produced by the reaction?

b. How many moles of water will be produced by the reaction?

c. What is the limiting reagent and how many molecules of the excess reagent are left unreacted?

d. If 85.6 grams of NO are produced, what is the percent yield of NO?

